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An object initially has a velocity of 3 m/s due west. After
interacting with something else for a while the object ends up
with a velocity of 4 m/s due south. What is the direction of
the change in velocity?

(a) roughly northeast
(b) roughly northwest
(c) roughly southwest
(d) roughly southeast
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/ "f\;/ up, west, and north, respectively. Such a coordinate
stm is right-handed, T or F? e

5T.3) The X, ¥, and z directions of a reference framg\ﬁﬁihtw

g

- -

C2T.4 A reference frame drawn on a sheet of \Ba»ﬁér has its

' y direction oriented toward the top of'the sheet and
its x éli];ection toward its right edge. What direction
must th\é\z direction point-f the frame is right-
handed? -~ g

;A% - A. Outward, p%npengiéﬁiar to the plane of the paper.

e

e

B. Inward, perpendicular to the plane of the papetr.

C. Diagonally t6 theNower left, in the plane of the
~ paper.

D. Diag,of’{ally to the lower tight, in the plane of the

paper.
}/ Vertically downward in the plane { the paper.

’F.,,,,Qihe'l}%(ﬁpecif:}f\)-\“’ T

,gi//C'Z’:l:.S\‘)If an object is located 3.0 m north and 1.0 m west o

e

" the origin of a frame in standard orientation on the
earth’s surface, its coordinates in that frame are
A.[3.0m,1.0 m, 0 m]

B. [-3.0m, —1.0 m, 0 m]

C. [1.0m, 3.0 m, 0 m]
D.[-1.0m,3.0m, 0 m]

E. [-1.0m,0m, -3.0m]

R Other (el
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@T(}) An object whose initial position coordinates\ige
. e t

[1.5m,2.0m, —4.2 m] in a frame in standard orien

tion is found a short time later at a position whose
coordinates are [1.5 m, —3.0 m, —4.2 m]. What is the
direction of this object’s displacement during this -
time interval? A :

A. East,

B. West.

C. North.

D. South.

-~ E. Down D \

\'\

\\

- Other ”(?’P\e‘cifyy' -
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C2T.7 The componénts Uy, Uy, and u, of a certain vector\fi
are all negative numbers. The vector’s magnitude u is
then-certainly negative as well, T or F? '

C2T.8 The only way that a vector can have zero magnitude

is for all its components to be zero, T or F? B
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Figure C2.12

Vectors for problems C2T.9
-through C2T.11.

@Commder the two vectors shown in flgure C2.12. The
sum of these vectors points most neatly
A. Up. B. Down. C. Right. D. Left.
=
{ Q_T % Consider the two vectors shown in figure C2.12. The
"~ vector W ~ il points most nearly
A. Up. B. Down C. Right. D. Left.
( “CIT. 11 EEons1der the two vectors shown in ﬁgure C2.12. To
- change il into W, one would have to
A. Multiply by —1.
B. Multiply by 120°.
C. Add the vector il + @.
D. Add the vector w — il.
E. Add thewvector # — w.
E. Do none of the above.

C2T.12 For all possible orientations and lengths of i and w,
mag(il + W) = mag(ii) + mag(w), true or false? -

C2T.13 For all poss1ble orientations and lengths of # and w,
mag(ii ~ @) > |mag(il) — mag( )|, true or false?
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